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Part I / 9T I
Aptitude Test / 3TR&Ta Udreor

Directions : (For Q. No. 1 to 4). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

fFEor: (01843 fem) 7T STl H aGh 1 FU 597 @ T &1 dRj #i v 7
3T §U S STFHaN 4 @ G&l @ §vF T |

Problem Figure /| F97 37Ild Answer Figures | 3t £ carel

R r=dipbre=indn LI

1.

X K

O W
OOOO ﬂh%[%l mﬂ(]j)ﬂﬂ () WFWW

ST =T A M il

(1) () () (4)

°9  h mh mih AAR
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Directions : (For Q. No. 5 and 6). Which one of the answer figures will complete the sequence of
the three problem figures ?

fder: (W5 3ilve & fog)i ST SMHfa & @ FHi7-G STHIT Bl @7 F97 Sl G T
G 3774 (sequence) T &l ST ?

Problem Figures | F37 377?7"/%12# Answer Figures / 31X BWW
5 1 <<
(1) 2 ©) (4)
\ I | = 0 =
= = = " = = = =
6 U N AN T 2 2
(1) (2) ©) (4)
Directions : (For Q. No. 7 to 10). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
fFEsr: (9.7 @10 & for@ )1 3-D T¥7 3TFii 9 U a%g & T g7 &1 (<@ T &1 TTF]
Tl S9Y g9, ST SFHEl T G TEET |
Problem Figure /597 3T&hld Answer Figures / 3¢ 377?77%?77'
7.
il i L L L L
0 10 183 1O
(1) (2) ) (4)
8.
L] 4‘_:: L L
| = =
1) (2) ®) (4)
9.
L U ] L U [ ]
(1) 2) ®) (4)
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Problem Figure /¥4 37l Answer Figures / 3 STl
10.

1) (2) ) (4)

Directions : (For Q. No. 11 and 12). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

fder: (W11 312 & for@ ) TvT HIFd H HE avq F1 THE §¥F @@ T &1 3w
STFHIaEl 4 3% T& SR 597 Tean49 |

Problem Figure /| 97 37hid Answer Figures [ StX SWW

(1) (2) ) (4)
12.

(1) (2) () (4)
Directions : (For Q. No. 13 to 15). The problem figure shows the top view.of an object. Identify

the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fder: (w13 @15 & faw ) ¥v7 37Tl H fHdl a5g H1 SR g9 fg@rar T &1 i F
feom SEd g€ ST STl ° @ 39 Tel THE 59 T |

Problem Figure / 97 3&hid Answer Figures / 3t¥ 37759‘/%1?#

13.
M) @ ©) @

1
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Problem Figure / 97 37Tdhid
14.

15.

i

Directions : (For Q. No. 16).

fEsr: (9. 16 & @)

Problem Figure | F97 STl

16. =i
5

Directions : (For-Q. No. 17 to.19).

3o : (W17 §19 & form)

Problem Figure / F97 3TThld
17.

Answer Figures / 3t¥ 3775‘7"/%/'477'

1 [] |l_l|
| | | | | |

1) @ ©) @

(1) (2) ©) (4)

Omne of the following answer figures is hidden in the problem figure

in the same size and direction. Select the correct one.
74 & 7 I SFaEl § G UF SHd 7Y SR 90 F GHT & G
g a8 g9 81 HiT-Gl &1 &, g/

Answer Figures / 3tX 3-775‘7"/%?#

] e el ]

(1) (2) ®) 4)

The-3-D problem figureshows a view-of an object. Identify the
correct front view, from amongst the answer figures, looking
in-the direction of arrow.

3-D F¥7 3MFf7 4 U a%g & U g99 &1 fo@ran 1@ &1 ax
F1 foom ¥ SE gU, 39% Tg THGE g9 Pl IR AFHTA 7 G
T |

Answer Figures / 3tX 377?7"/%12#
[] []
—— ] 'TE —
®)

(1) (2)
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Problem Figure / 97 37T&hid Answer Figures / 3t¥ 37759‘/%1277'

18.
I ] ,_|_I: ,_I_E ,_I_I:
| L I 1
1) (2) 3) (4)
N
19. |- - .
e | &l .
10
1) (2) (3) (4)
AN
Directions : (For Q. No. 20 to 22). Identify the correct 3-D figure from amongst the answer figures,
which has the same elevation, as given in the problem figure
on the left.
59T : (720 @22 & fom@ )1 3-D W 3TFhEl § T 3T 3Phd G o7 F, TgE
§v g7 3Pl q ferdt &l

Problem Figure / 97 3hid Answer Figures / 3tX 37737‘/%/?77

20.

21.

22.

DD
= GOQE
s @O SE
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Directions : (For Q. No. 23 to 25). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

T : (723 @25 & @) | 3-D F¥7 3MFHId & Gierd W, W FHFl 8 @ T&l §v7
FI7-T1 82

Problem Figure / 97 371l Answer Figures / S ST

. A = A

f, TR

TR A A

1) (2) ©) (4)
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Directions : (For Q. No. 26 and 27). Find the odd figure out of the problem figures given below.

fdor : (W 26 327 & @) 74 51 7§97 Faal & @ fIvH 3plT TEEn1 |
26.
1 | ETIKR
ey (2 (3) 4)
27.

[ ] [ s

(1) (2) ®) (4)

Directions : (For Q. No. 28 to 31). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?

fE9r: (.28 @31 & fo@) SR TPl T G BIT-F STH T &1 T G STHfa FTX - X G
TEYT TET Y Tl & 2

Problem Figure | F97 STld Answer Figures / 3t¥ 37759‘/%127?'

X
! B B kK
1) () 3) 4)
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Problem Figure | F97 STl Answer Figures / 3t¥ 37759‘/%1277'

X
X (1) (2) 3) (4)
X
X O] (2) (3) (4)
X
" 4% JPwedl @ b
X (1) (2) ©) (4)
Directions : (For Q. No. 32 to 34). The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the-answer figures, looking
in-the direction of arrow.
fdor : (W32 §34 % form)i 3-D T Fld § T a5 & TF gvq T fe@rr 7 g1 ik
&1 I 4 3@d §U 9% T8l GHE 599 &1 I Hlad 5 G
JE=Y |

Problem Figure / 97 3Tl Answer Figures / 3t¥ 37759‘/%12#
32.

(1) (2) ) 4)
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Problem Figure / 97 37T&hid Answer Figures / 3t¥ 37759‘/%1277'

33. _ ki
= = =t ]
[
(1) (2) (3) (4)
e
34.
D:b [ -
1) (2) ©) (4)
e
Directions : (For Q. No. 35). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.
fdsr : (7 35 & fer@ )i & TE gYT SFHId F BT G99 F Gal 3-D I SFladl 9 G

g |

Problem Figure / 97 3T&hld Answer Figures / 3 S

H &
1) () 3) (4)
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36.

37.

38.

39.

Which type of roof will provide maximum
protection from heat radiation in a

building ?

(1) Concrete slab, water proofed and

covered with a roof garden
(2) = Painted aluminium sheeting
(3)  Concrete slab with plaster

(4) Concrete slab with mud and brick
tiles

What is Venice famous for ?

(1) Springs
(2) Canals
(3) Mountains
(4) Valleys

Gol Gumbaj of Bijapur is :
(1) A Mosque

(2) A Fort

(3) A Mausoleum
(

4) A Palace

Solar energy is converted to electrical

energy by :

(1) Rain water

(2) Photovoltaic cells
(3)  Electro magnets
(4) Bio technology

36.

frafafed ° e o ©q vem o T fafeo
q gag s gran < 2

(1) 1 e, IS H SRl gg hohle
qfean

(2) T Tt ==
(3)  Shehle UfAT W & HIY
(4) whehie ufean figt wd S0 i B %

EEIC
e fre o fae gere 22

(1) =

(2) T

(3) e

(4) =fear

TSR <R Tiiet TwaTst

1) T afse®

2) U fHeme

(8) Tk AHI 7

(4) THTEAR

TF et fohe | farrett # wfRafda Bt 2
(1) =S 1 9t

(2) TRIREITERES Hod

(3) forgga graei

(4) 9 UrEifeR

X/Page 11
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40. Buland Darwaza is located in :

Golconda
Fatehpur Sikri
Red Fort

Agra Fort

41. Ellora temples are :

Built in wood

Made in marble

Built in sandstone

Cut out of rock

42. Salim Chisti mosque is located in :

(1)
(2)
©))
(4)

Delhi
Gwalior
Fatehpur Sikri

Hyderabad

43. IGBC stands for :

(4)

Indian Government Biological

Center
International Great Beautiful City
Indian Green Building Council

Indian Great Building Center

41.

42.

43.

KIGRENI

SR &1 fehedt

TR o HiST

el H o ¢
G § & 8

e ST TR A ©
A B Y He T E

Teiy Taedl 1 Hehea] shal 1) feed § 2

et
TR
T faed
AR

e Sf. s Hf. fore ot weles 82

(1)

(2)
(3)
(4)

TR TR Sifoeh g

S o2 Gt I
AR B wa i
I =T o7 g

X/Page 12
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44. BigBenisa: 44, TR TNT?

(1) Temple (1) df
(2) Clock Tower (2) Ha W
(3) Palace 3) WA
(4) Mosque (4) W&
45. Pyramids are located in : 45, forfie el feoq 22
(1)  Ethiopia (1) <
(2) Rome ) M
(3) Egypt (3) z=
(4) Greece (4) g

46. Vertical sun protectors over wall openings | 46. FCEEaRC A DG U RCES IS H&h Ffj el

help in cutting off summer sun rays on : 1 e feon & red € 2
(1)  On all sides 1) ®|WEE

(2)  South side (2) <& I TWH

(3) Westside (3). 9f¥=H I WHh
(4) North side (4) ST H Th

47. Temperature of the Earth due to the | 47- U T AT I B W
‘Greenhouse Effect’ :

(1) Keeps increasing/decreasing (1)  =iegdl/ sl Tl §
(2) Increases (2) wedg

(3) Decreases (3) TR

(4) Remains constant (4) T HUH wd e

X/Page 13 SPACE FOR ROUGH WORK / T% T4 & fag e



48. Which one of the following is not a load | 48. fHfaiEd & 9 HIF T qeH I H YR 33M a1

bearing component in a building ? feem & &2

(1) Concrete floor slab (1)  @hshic 1 HEl gt
(2) Column (2) W™

(3) Beam (3) IR

(4)  Partition wall ) fa9sF ER

49. Which color is obtained by mixing red and | 49. @Ta1 Tal dreq U1 5™ § I &1 31 &1 © ?

yellow colors ?

(1) Brown (1) q
(2) Purple 2) s
(3) Pink (3) TSt
(4) Orange (4) Had

50. The ruins of Hampi are located in which | 50. & o T foh T3 ¥ feom €2

State ?

(1) Tamil Nadu (1) dferg
(2) Karnataka (2) R
(3) Andhra Pradesh (3) Y U
(4) Kerala 4)
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51.

52.

53.

Part II / YW1 11
Mathematics / TifUTa

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then
n(A)—n(B) (where n(X) denotes the
number of elements in set X) is equal to :
1 6

2 2
@) 3
(4) 4

The order and the degree of the differential
equation of all ellipses with centre at the

origin, major axis along x-axis and

N

eccentricity Y= are, respectively :
2

1 2,2
@ 1,1
G) 21
4 1,2

If A and B are two independent events

such that P(A) = 1—30 and P(AUB) = %,

then P(A NB) is equal to :

2o Sl I Gle

51.

52.

53.

Ifg AT B IR TH=A W EfFAF
el IUFHA I G, Bk Hel UG
HT F@& ° 960 AfE §, @ n(A)—n(B)
(STl n(X), TI=94 X o Togdi sl G Tl

%‘) SR E :
1) 6
2 2
G) 3
(4) 4

~

37 |t Srefe, et g g fog §, <
e x-amﬁﬁvnﬁ%ammmg%,%
STl THISHTTT hi hife AT Bd ShAST: © :

="
@ 1,1
@) 21
4 1,2

Ife A 9U1.B € a3l weAal TE § fw

3

PA) = o5 T P(AuB)z% g,

P(ANB) S ¥ :

3
5
0

—~~

W

~
[

%
n L
@ 3
1
3

@) 11

X/Page 15
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54.

55.

56.

Let S be the set of all real values of ‘a’ for
which the following system of linear
equations

ax+2y+5z=1

2x+y+3z=1

3y+7z=1

is consistent. Then the set S is :
(1) an empty set
(2) equaltoR
(3) equal to R—{1}
(4)

equal to {1}

If an equilateral triangle, having centroid
at the origin, has a side along the line,
x +y=2, then the area (in sq. units) of this
triangle is :

1) 3Je
(2) 6

B) 63
@ 3

If the shortest distance between the lines
x+2N=2y=—12z, x=y+4A=6z—12\ is

442 units, then a value of \ is :

n 2
2 2
G) V2
4) 2v2

54.

55.

56.

T S, ‘a’ o el aRdfas A 1 9= §
fSoer foau e gHie Ham

ax+2y+5z=1

2x+y+3z=1
3y+7z=1
A (consistent) &, T TI=A S :
(1) T fr wge §
2) RF TR T
(3) R—{1} & =RWR T
(4) {1} W ¥

T g S, TSt Sk qa foig &, &
Teh YT @l x+y=23|ﬁf3$'ﬂﬁ%, LIREEE

T &% (S ShET H) g
(1) 36

26

B) 63

@, =3

Ife T@mell x+28 =2y = —12z,

x=y+4\=6z—12\ % o= A0 T 442
TFEL ANFTEHANG -

(1) %
2 2
G V2
4) 242

X/Page 16
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57.

58.

59.

If the digits at ten’s and hundred’s places
in (11)?°1¢ are x and y respectively, then
the ordered pair (x, y) is equal to :

1 @8
2 (16
®) 61
4 @1

Which one of the following points

does not lie on the normal to the hyperbola,

?—%:1 drawn at the point
(8,33)?
1) (10,/3)
1
) (13, ——3]
1
®) (12' —3)

An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so

that at most 3 of them are red, is :

(1) 495
(2) 455
3) 460
(4) 490

57.

58.

59.

I (11)2016 7 S&TE qeN Hehs oh T W hHT:
3feh x Ty &, < ST F7H (x, y) T R :

@ (1,8
@ (16
®) 61
@4 61

e 4 8 HiF-w fag sAfqueew
2

2
’1‘_6—%=1 & fig (8,343) W &= MY

FAfyreis o feod T &2

|
o (%

(4) (1LV3)

Teh oW | 5 AT, 4 Tl 997 3 Gohe & & |
A 3 qhhi, TS0 Fowt | 9 4 S et s

gad & T 378 9 s1fss @ Afess 3 ot &,
H G

(1) 495

(2) 455

(3) 460

(4) 490

X/Page 17
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60. If (x+iy)2=7+24i, then a value of | 60. AR (x+iy)2=7+24i T, &

(7+\/ﬁ);—(7—\/ﬁ); is : (7+\/ﬁ);—(7—\/ﬁ);wwnﬁ
e

1) —6i 1) —6i

(2) —3i ) —3i

() 2i 3) 2i

4) 6 4) 6

61. The equation of the circle, which is the | 61. 39 I I THIHW, S Id a2 +12—2x=0
mirror image of the circle, x> +1y>—2x =0, 3@ y=3—x | 90 JA&9 &, © :

in the line, y=3—x is :

(1) 2>+y>—6x—4y+12=0 (1) x?>+y*>—6x—4y+12=0
(2) x2+y?—6x—8y+24=0 (2) x>+y>—6x—8y+24=0
(3) x2+y>—8x—6y+24=0 (B) x®+y>—8x—6y+24=0
(4) x®+y?—4x—6y+12=0 (4) x®+y>—4x—6y+12=0
62.  [im log (sin 7x + cos 7x) equals : 62.  im log (sin7x + cos7x) quren & -

x=0 sin 3x x=0 sin 3x

1 1

~log 7 ~log 7
1) 3'o8 1) 308
) L ) -
@ 3 @ 3
5 14 g 1
®) 3 G 3
5 = 5y =
@4 3 4 3
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63.

64.

If the line, y=mux, bisects the area of the

region

{(x,y):0=sx= %, 0Sy£1+4x—x2}, then

m equals :
£
T
9
@ 3
13
G 3
13
@ -

The product of the perpendiculars drawn
2 2

from the foci of the ellipse, r L Y
9 25

upon the tangent to it at the point

(3%}..

2 2
1) 313
2 9
@ -
4) 18

63.

64.

f2 @ y=ms, 89

{(x,v):0=sx< %, 03y$1+4x—x2}aﬁ ]
R 9 | foafod el €, A m BT AA ©

39
9
2 g
13
)
13
@ -
m§+§:1aﬁmﬁ@mm
[;?Jmaﬁﬁ@@ﬁi@qtaé@
Tl I [OHEA O :
1) 3J13
@ 9
189
® 13
4) 18
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65.

66.

An observer standing at a point P on the
top of a hill near the sea-shore notices that
the angle of depression of a ship moving
towards the hill in a straight line at a
constant speed is 30°. After 45 minutes,
this angle becomes 45°. If T (in minutes) is
the total time taken by the ship to move to
a point in the sea where the angle of
depression from P of the ship is 60°, then

T is equal to :

(1) 45(1 ¥ %)

(2) 45@1 ++/3)

Sl
=

(3) 45(1 U

(4) 45(2 +

1=
Ne—

Two numbers are selected at random
(without replacement) from the first six
positive integers. If X denotes the smaller
of the two numbers, then the expectation
of X, is :

5
1 3
14
@ =
13
G 3
7
4 3

65.

66.

Th Ueh FHg o U9 39d Th RISl ohl =lel
P T Gl B Teh STRTSl Bl STeTHA il 30°
T § | SRS Uk FHM = § Teh T Y o
RISt i 3R 37 W § | 45 e & s =%
SHIT 45° T STl & | 497G §HR H o8 T fog,
St foig P 9 SIS 1 STaHA I 60° T,
T TEH 1 Fol g9 (Tl ®) T® @1 T
TSR E

(1) 45(1 + %j
(2)  45(1 +/3)

3) 45(1 + %)
(4) 45(2 + %)

T B: yqUiTeR! o | & S (farm wfereme
F) argssA A R Afe X A H 9§ s
&1 w1 Yererd wIal €, qLX B g
(Expectation) R

5
1 3
14
@ =
13
® 5
7
@4 3
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67.

68.

The perpendicular distance from the point
(3, 1, 1) on the plane passing through the
point (1, 2, 3) and containing the line,

d AN A A A A
r =1+ j+NQ2i + j+4k) is:
3
O
1
@
4
®) Ja
4 0
hL
The integral dx
8 I(x2+3x+3)\/x+1
is equal to :
1 -1 x\/5
(1) ﬁcot [ x+1:| +C
1 1_ X |
@ T/ Bary| T
2 1_ X |
@ FE | Bay | T

2 ot ——=—=|+C
(4) ﬁco Jx+1

(where C is a constant of integration)

67.

68.

f§ig (3,1, 1) ¥ wsh "Had, S foig (1,2,3) 9

gAHT T 7 odur fSgw w Y@
?=?+?+}\(2?+?+42)ﬁ2}?{%,¢{
3
W ]
1
& |
4
® Um
4 0
x+2
Wj(x2+3x+3)\/mdxw
q:
J3
1) %cot{xxﬂlﬁj
1 A ETAN
2) ﬁtanl 3t | T C
2 ox ]
@ F | ey | tC

2 ot ——=—| +C
(4) ﬁco A x+1

( ST&l C U GHEhH 3T ¥)
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1 1 1
o is : :
69.  The value of 0 o855 sin255° ' 05285° /B sin@55% T 8
W G2 1) G-2
2 242 (2) 242
; 42 ; 42
G & a0
w 22 T
3 3
70. Let ay, ay, a3, a4, a5 be a G.P. of positive | 70. i ay, @y, az, a4 991 a5 Teh HHAIHD qrdfaeh
real numbers such that the A.M. of a, and TSl TEt RIRSES et ® foF a, d¥la, <l
a, is 117 and the G.M. of a, and a, is 108. TG e 117 © 1 a, d%M a, <l 10 '\"R
Then the A.M. of a; and a; is : HaeT (G.M.) 108 g @ a; d9T ag a1 HHIM
Hieg % :
(1) 145.5 (1) 145.5
(2) 108 2) 108
3) 117 | Qe
(4) 1445 (4) 1445
N N
_ dx . dx
71. The integral 1+ W isequalto: [ 71. HHIhA 1+ %/m SR ¢ -
V24 V24
1) —= 1) —=
1) 15 M 13
2 = ) =
@ 3 @ 3
3 — 3) -
G 1 G 15
y = g =
@ @
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72.

73.

74.

> - —
Three vectors g, b and ¢ are such that

‘:‘ =1, ;‘ =2, ‘?‘ =4 and

: + g + ? = 6 Then the value of
4;'—b> 4 3—b>? + 3?'; is equal to :
(1 27

(2) -—e68

3) —26

4) -—-34

For all real numbers x, ¥ and z, the
determinant

2x Xy —xz Y

_ . 2
2x+z+1 xy—xz+yz—z= 1+y ——

3x+1 2xy—2xz 1+y
to:
1) y—x2) (z-x)
(2) zero
©G) -y y—2 (-2
(

4) (x-yz) (y—-2)

If Ny-and '\, are the two values of A such
that the roots a and B of the quadratic
equation, A(x2—x)+x+5=0 satisfy

g+E+é=0,’chen)\—%+)\—§ is equal
B a 5 N5 M

to:

(1) 488

(2) 536

(3) 512

(4) 504

- = .
72. 4 wfesw a, b @9 ¢ 1@ ¥ fw

73.

74.

‘; _1, bl =2, || =4 =en
at+b+c=o08d

42-b +3b-C +3c-a BMAAE
1) 27

) —68

3) -26

4) —34

x, y A1 z o G ardfaesh gemst & fa,
HR{UIsh

2x XYy —xz v
2x+z+1 xy—xz+yz—22 1+y

3x+1 By /R 22 1+y

(y—xz) (z—x)

A (0)

x-y) (y—2) (z—x)
(x—yz) (y—2)

RICOWICE) DV e d: B 1 B Col e 1ol
FHIRT \(x2—x)+x+5=0% Td o, B TH
A

e B4 MM
%ﬁB ot 0%,??[}\% +)\%ar|a'{
g

(1) 488

2) 536

3) 512

(4) 504
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75.

76.

If the sum of the first 15 terms of the series

3+7+14+24+37+ .. ... is 15 k, then k
is equal to :

(1) 126

(2 122

(3) 81

(4) 119

Water is running into an underground
right circular conical reservoir, which is
10 m deep and radius of its base is 5 m. If

the rate of change in the volume of water
. ... 3 .
in the reservoir is E’n’ m° /min., then the

rate (in m/min) at which water rises in it,

when the water level is 4 m, is :

3
™ 3
3
@ 3
1
G 3
1
@ 7

75.

76.

afc JON 3+7+14+24+37+ ... .. & gIH
15981 KT A 15 k §, o1 k SR § :

(1) 126
@) 122
(3) 81

(4) 119

Tk YfHTd oiel geiia YaemeRR 2ehl, S 10 Hi.
T} qo fSTEeh SATe @t 5 5. ® § 9
37 W' Al gt & I 6 ST | g
aﬁa%w /M & @ SR TR e

i R (. /f ), Safe o R4 .
g

3
M 3
3
@ 3
1
G g
1

(4)
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77.

78.

A bag contains three coins, one of which
has head on both sides, another is a biased
coin that shows up heads 90% of the time
and the third one is an unbiased coin. A
coin is taken out from the bag at random
and tossed. If it shows up a head, then
the probability that it is the unbiased coin,

1S

o |w

(1)

If the function f: R — R, defined by

f(x) = {

ar—bux +3, x=2

x <2

is differentiable, then the value of
f'(=3)+f'(3) is equal to :

1 0
@ 3
@ 4
@ 2

77.

78.

Teh et | 4 &k 8, 599 9 Tk o S 3R
o &, <o feen S (biased) T 58 ™
o 90% IR Yehe Bl & SR T ST
foaght &1 & H 9 Tk et Argssa e
Y 3TTE T Afe Toeeh R e Yehe @,

ST AT THehT 8 it HIfaehd © :
3
1 g
5
@ 75
5
G o
1
4 3

I wed f: R - R, S

fx) = {

ax? —bx +3, x =2

x <2

g1 gfvurfaq €, stasaHig @, ol
f(=3)+f'G)HAAT :

1 0
2 3
@ 4
@ 2
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79. Which one of the following statements is | 79. ﬁﬂﬁ@ﬁ?—WW@W(Tautology)

a tautology ? g2

N p=>@—9 N p—->@P—-9
2 (Pva-—q 2 (Pve-—q
@ pvip—9 @ pviP—9
4) pv(@—p 4) pv(@—p

80. The sum of the abscissae of the points | 80. 3 fogaTi & x-Fc3liehl 1 I, TRl a5k

whSlRE s, y=ka2+ (5k +3)x+ 6k +5, (keR), x-3781

y=kx2+ (5k +3)x + 6k +5, (keR), touch EIRSNEC TG

the x-axis, is equal to :

4 4
1 73 1 —3
19 19
2 3 2 3
10 10
Y 4%
5 5
@ 3 @4 3

-00o0- -00o0-
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Read the following instructions carefully :

Frefefaa Fesr sarT @ ug

1. Part I (Aptitude Test) has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Part II has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part III consists of 2 questions carrying 70
marks which are to be attempted on a separate Drawing
Sheet which is also placed inside this Test Booklet.
Marks allotted to each question are written against
each question. For each incorrect response in Part I
and Part II, % (one-fourth) marks of the total marks
allotted to the question (i.e. 1 mark) would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Aptitude Test and Mathematics-Part1
& I and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Aptitude Test and Mathematics - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

1.

qfeqent % WA 1 (Afife Tdem) # 50 S ue €
T weieh Tt S % fau =i (4) 39k € | 9 11§ iforg
% 30 T U & 9 T U9 F Tl SW * g
R (4) 3Tk fuifa ford T3 €1 gfeasht & w11 & 2
¥ © foreh forg 70 ik fuifta €1 g uea gt aden
e & TS T SR 3 W I § | Ui U9 ’g
fuiRa ofe U & @ Sifohd © | 9FT 1 IR oW 11 H
Ydeh TeAd 3TY o (o8 39 ¥ < T Feifid e sl
T Yy (gep-wigrg ) W (i 1 3ih) FA A H |
e fore SaT | afe SR 73 § ot e 1 e SaT T8
fen = ©, A1 et A B A HE o7 7@ B S |
e GRTehT, WX TS TS SR M 1 LAMYEs JAM
o, i el o oRReR ¥ (3ot Tien g
ST UF & hIS H fuerdr i Rl w1 Sredt) gak wlia
Yieqehl SUeTedl T8l Ul ST |

ST ol I T3 W HIE H T R AT Ta@T il wH
T 1 STIAM el & | Helt 0T TS foras k1 i, e
gitent H fFifa sre S i Y% @@ & faw SR 5[
Tifehd B, TN TR ST | 3@ ST Tcieh I8 T 1<l i
3R T YReqert & 31 8 Ui gt (S 27-31) R & T
gl

4, Wil ST IR Yedeh e e sl ST9 yae e femnd |
5. s1efiaren a1 fadieres At foRm s1gafa & fomm &8 eTweff

10.

11.

ST TH A BIE |

Tiem FHE 81 WY, Agdf ftarsl &1 oru
SAfET TRI&I0T ~ W17 [ T 70 -~ 9T 11 h1 S°R 99 0§
srfirela qLreTor- i [11 =t SIET e <1 ofR Suftefa o=
TR 3T TEAER QAR FH o T & TaT 7 B |
TN A A T I THT ST foh 3T o= ud Qe vite =i
Trere T E 5 e e W i Soft § HET ST |
TAYT AU A T ok IS hT (9T Sufeertad o H
feu 7T T TR Sy WE | qenfy, eregeff STt
FAT%f o TI&T07 T TG - | 1T 113! qET ekt sl
N Fhd

TR/ SEETerd Ufehetsh a1 STET U0 (S o
Thel, SHUTH SIS 1 FIT afid & |

e BTel § TR o fotw srepedt udten frehr o foromii wel
fafrmi gr frafia 21 egfea wrem W o 9 Jmal
1 St wieT e & frami e fafei & sTar &
fordt off feafa o wean giaen, S 931 w@ SR e &
FIE off 90T 9 @ 3Ter foRan Srwm iR 9 € Hre S
STeET Tl S |

T gRehT, ST S TE T e | < T ale giaen
T ! el W& alieh 9 wifed T H off ford |
arazreft g Tt hay/ ect H WereT sht< % Sretan ferdt
Yok hit UTGT |IAT, A o1 gdfetiad, ShETst ot
ufelat, IR, WeTge WiF, SHa (1+1eh SUeRTuT o1 fehdt
3T YehTY hl |THIUT SRl 1 ST AT UL & aht STTHIT
T
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